8

MOUNTING HARDWARE TO MOUNT THE BLUE LIGHT STATION SHALL BE A 1/4-20X 1.0"L SCREW WITH NYLON WASHER (X4) (PROVIDED BY

TO MAINTAIN IP66 RATING, ALL UNUSED KNOCKOUTS SHALL BE SEALED (BY INSTALLER) WITH A SILICONE SEALING COMPOUND.

&

PROVIDED BY TALKAPHONE:

21.00"H X 2.00"W

32.245

=
W
=
R

G

E

N
L %

\

~————9.835

\\STANDARD SIGNAGE:

#10-24, CSK, FLAT HEAD, TAMPER
RESISTANT TORX, T-20, SCREWS (X8)

BOUNDING BOX DIMENSIONS
FOR OPTIONAL SIGNAGE NOT

4X D 275
¢ MOUNTING HOLES

——KNOCKOUT FOR
/ 0.75" CONDUIT

26.000

8.000

——KNOCKOUT FOR
0.75" CONDUIT

7.070

SIGNAGE ON TWO SIDES:
HIGH REFLECTIVE WHITE "EMERGENCY"
LETTERING WITH WIDE ANGLE VISIBILITY
ALSO AVAILABLE WITH "ASSISTANCE",
"INFORMATION", OR CUSTOM LETTERING

AND COLORS.

STANDARD FINISH:

GENERAL NOTES:
1. ETP-WM-TPK-IP66 (BLUE LIGHT STATION) SHALL HAVE AN IP66 INGRESS PROTECTION RATING.
2. ALL GASKETS USED SHALL BE A UNIBODY CONSTRUCTION.
3
TALKAPHONE).
4,
_—— AERATOR (IP66 RATED)
GORE
PMF200542
L—=———=]
——BOUNDING BOX DIMENSIONS
FOR OPTIONAL SIGNAGE NOT
PROVIDED BY TALKAPHONE:
2.125"H X 6.25"W
L i f ——FRONT SIGNAGE "EMERGENCY TRIP"
== MATERIAL: AVERY HV1200 SERIES
2250 ENERGENCY COLOR:
MAX TRIP AVAILABLE IN VARIOUS STANDARD COLORS
""" ®
| () oD
6.500
MAX I
———— " EMERGENCY TRIP PUSH BUTTON
® o SCHNEIDER ELECTRIC
PART NO. ZB4BS944
N CONTACTS: 2 N.C. AND 2 N.O.
- 18.500
® m—er— ®
222588 |EMERGENGY
\@ YT T e
—_#10-24, CSK, FLAT HEAD, TAMPER
RESISTANT TORX, T-20, SCREWS (X6)
KNOCKOUT FOR KNOCKOUT FOR
0.75" CONDUIT 0.75" CONDUIT

—= 4500 =
10.470

BRUSHED STAINLESS STEEL

OPTIONAL FINISH:

10.740 ——— =

1.0

1.0

PRELIMINARY RELEASE

7/22/2021 J MAHETALIA

ECO

REV.

DESCRIPTION

DATE APPROVED

AVAILABLE PAINTED IN CUSTOM COLORS

REVISION TABLE

FINISH

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TALK-A-PHONE, LLC. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
TALK-A-PHONE, LLC IS PROHIBITED.

DRAWN
CHECKED
ENG APPR.
MFG APPR.

QA.

COMMENTS:

NAME DATE
J MAHETALIA 7/22/2021 L]
K PATEL  7/22/2021 TALKAPHONE

TALK-A-PHONE, LLC

7530 N. NATCHEZ AVE. NILES, IL 60714
WWW.TALKAPHONE.COM

DWG. NO.
SIZE  PART NO. ETP-WM-TPK-IP66 REV
C ED'I\'AI;-W-IUITIS_E;RIES MOUNT WITH TRIP SWITCH 1 .0
SCALE: 1:8  WEIGHT: SHEET 1 OF 3



8

GENERAL NOTES:

1. ETP-WM-TPK-IP66 (BLUE LIGHT STATION) SHALL HAVE AN IP66 INGRESS PROTECTION RATING.
2. ALL GASKETS USED SHALL BE A UNIBODY CONSTRUCTION.
3. MOUNTING HARDWARE TO MOUNT THE BLUE LIGHT STATION SHALL BE A 1/4-20X 1.0"L SCREW WITH NYLON WASHER (X4) (PROVIDED BY

TALKAPHONE).

4. TO MAINTAIN IP66 RATING, ALL UNUSED KNOCKOUTS SHALL BE SEALED (BY INSTALLER) WITH A SILICONE SEALING COMPOUND.

EMERGENGCY
TRIP

® @®
. T EE_@‘@F_N:@X

11
N~

)

DETAIL A
SCALE1:2

——BROKEN OUT SECTIONAL
VIEWS (TO SHOW
INTERNAL COMPONENTS)

LED BLUE LIGHT "ETP-EL 12/24"
10-30VDC/20-28VAC, 7.5 WATTS

MOUNTING PANEL (LEFT)

#10-24 WING NUTS
WITH NYLON INSERTS

(X2)
CIRCUIT BREAKER
[ 230VAC, 0.7A
) MOUNTED ON A DIN RAIL,

FASTENED TO PANEL WITH #10-24
SCREWS (X2).

|

O LA
Elﬁ[ y
HE /; ’H D
Bai =§CDCD§_
O O o
|
-
- ] 4
R
| =
) 4 1l [
N é |
E I

) I 13.000

—ELECTRICAL BOX

POWER SUPPLY

INPUT: 90~264VAC (47~63Hz)
OUTPUT:12VDC, 5A DETAILB
FASTENED TO PANEL WITH SCALE1:1.5

#6-32 SCREWS (X2)

FASTENED TO THE PANEL WITH
#10-24 SCREWS (X2).
GROUNDING STUD FASTENED TO
THE ELECTRICAL BOX.

NAME DATE
DRAWN ) MAHETALIA 7/22/2021 t i
CHECKED K PATEL  7/22/2021 TALKAPHONE
TALK-A-PHONE, LLC
7530 N. NATCHEZ AVE. NILES, IL 60714

ENG APPR.

FINISH MFG APPR. WWW.TALKAPHONE.COM
QA. DWG. NO.

PROPRIETARY AND CONFIDENTIAL COMMENTS:
THE INFORMATION CONTAINED IN THIS SIZE PART NO. ETP-WM-TPK-IP66 REV
DRAWING IS THE SOLE PROPERTY OF
TALK-A-PHONE, LLC. ANY DWG. TITLE: 1 0
REPRODUCTION IN PART OR AS A WHOLE ETP-WM SERIES MOUNT WITH TRIP SWITCH .
WITHOUT THE WRITTEN PERMISSION OF
TALK-A-PHONE, LLC IS PROHIBITED. SCALE: 1:8 WEIGHT: SHEET 2 OF 3



8 7 6 5 4 3 2

GENERAL NOTES:
1. ETP-WM-TPK-IP66 (BLUE LIGHT STATION) SHALL HAVE AN IP66 INGRESS PROTECTION RATING.
2. ALL GASKETS USED SHALL BE A UNIBODY CONSTRUCTION.
3. MOUNTING HARDWARE TO MOUNT THE BLUE LIGHT STATION SHALL BE A 1/4-20X 1.0"L SCREW WITH NYLON WASHER (X4) (PROVIDED BY

TALKAPHONE).
TO MAINTAIN IP66 RATING, ALL UNUSED KNOCKOUTS SHALL BE SEALED (BY INSTALLER) WITH A SILICONE SEALING COMPOUND.

MOUNTING PANEL (RIGHT) #10-24 WING NUTS WITH

><NYL0N INSERTS (X2)

DIN RAIL TERMINAL BLOCK
FASTENED TO PANEL WITH
#10-24 SCREWS (X2)

:

1T

13.000

NN XN KN X X XN X XN X XXX

=_ L[l mwwmﬁﬁﬁﬁﬁﬁﬁ

EMERGENGY

0000]0000]0000000000000000

=
o e e v

EEEEE EERS@ENA@\({) DETAIL C

BROKEN OUT SECTIONAL VIEW (TO
SHOW INTERNAL COMPONENTS)

DRAWN

CHECKED

ENG APPR.
FINISH MFG APPR.

QA.

PROPRIETARY AND CONFIDENTIAL COMMENTS:

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TALK-A-PHONE, LLC. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
TALK-A-PHONE, LLC IS PROHIBITED.

NAME DATE
JMAHETALIA 7/22/2021 t °
K PATEL | 7/22/2021 TALKAPHONE
TALK-A-PHONE, LLC

7530 N. NATCHEZ AVE. NILES, IL 60714
WWW.TALKAPHONE.COM

DWG. NO.
SIZE PART NO. ETP-WM-TPK-IP66 REV
c TP AWM SERIES MOUNT WITH TRIP SWITCH 1.0
SCALE: 1:8  WEIGHT: SHEET 3 OF 3



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet2
	Drawing View7
	Detail View A (1 : 2)
	Detail View B (1 : 1.5)
	Drawing View10

	Sheet3
	Drawing View11
	Drawing View12
	Detail View C (1 : 1.5)


